PG BAE 97 R F AR LR AL R

% (i ) 3 A EFEA .
@ I XY ﬁﬁ : 100 £~

#t B iR ' ¥ 1R 2R

Secton I - Multiple Choice € »stions (choose only one answer (60%) (B2 4)
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20. A network that contains one or more host computers that provide some type of service to the other
computers in a network is a (A) peer-to-peer network. (B) client/server network. (C) local area network.
(D) wide area network. |

21. Which This standard made it possible for computer machines from different manufacturers to exchange
data (A) American Standard Code for Information Interchange. (B) Ethernet. (C) World Wide Web. (D)
Common Business Oriented Language. ‘

22. A data warehouse is composed of (A) historical data and an information directory. (B) OLAP and
external data. (C) internal and external data sources. (D) marketing and sales.

23. Fiber-optic cable is typically measured in (A) bps. (B) Mbps. (C) Gbps. (D) Thps.

24. The most common Ethernet topology is (A) bus. (B) star. (C) ring. (D) mesh.

25. Web browser software requests Web pages using (A) telnet. (B) HTTP. (C) FTP. (D) MBPS.

26. Facilities for managing the delivery of voice information using the Internet Protocol best defines (A)
WAP. (B) Wi-Fi. (C) VoIP. (D) XML.

27. The protocols used for secure information transfer over the Internet are (A) TCP/IP and SSL. (B)
S-HTTP and CA. (C) HTTP and TCP/IP. (D) SSL and S-HTTP.

28. The multitasking, multi-user, operating system developed by Bell Laboratories that operates on a wide
variety of computing platforms is (A) Unix. (B) Linux. (C) Mac O5. (D) COBOL.

29. Software that manages the resources of the computer is called (A) operating system software. (B)

application software. (C) data management software. (D) network software.
30. What is the foundation technology for Web services ? (A) XML (B) HTML (C) SOAP (D) UDDI
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